8 | Z 3 | 2 | 1
PARTS LIST
ITEM|QTY PART NUMBER MATERIAL DESCRIPTION MASS
1 1 FV_100_GS_TS_MAIN FLANGE MS PL 16 x 218 x 218 2,991 kg
1 FV_100_90_4" 90 Deg Elbow MS 100mm Elbow 90 deg sch 10 1,967 kg
1 AMF_FV_100_OUTLET FLANGE MS PL10X 174 X 174 0,983 kg
1 FV_WELD IN GLAND BOX MS RB 50 X 85 0,607 kg
2 Fv_80/100_PTFE BUSH TEFLON RB 40 x 13 0,005 kg
1 FV_GLAND BOX EARS MS PL 4,5 X 50 X 195 0,284 kg
1 FV_TOP GLAND MS RB 35 X 55 0,148 kg
1 FV_TOP GLAND PLATE MS PL 12 x 104 x 104 0,230 kg
1 FV_100_MAN_SPINDLE MS RB 30 X 363 0,972 kg
1 FV_100_GS_GASKET SEALING DISC MS PL 16 X 122 X 122 1,006 kg
1 FV_100_GS_PTFE GASKET TEFLON 114.5 OD x 30 ID, 60 PCD, 6H 0,016 kg
1 | FV_100_GS_STD_SPINDLE RETAINER MS PL 10 X 94 X 94 0,331 kg
8 M10 Spring Washer GALV 10mm ID Spring Washer 0,003 kg
6 M10 x 20 Hex Bolt GALV 10mm OD x 20mm Threaded Bolt | 0,023 kg
1 FV_MAN_SPINDLE NUT MS RB 100 X 28 0,078 kg
1 FV_MAN_HANDLE CENTRE MS RB 50 X 19 0,222 kg
2 AMF_FV_HANDLE MS RB 20 x 113 0,155 kg
1 AMF_FV_OPEN AND CLOSE PLATE 316L PL2 X 63 X110 0,074 kg
6 M10 NUT GALV 10mm ID Full Nut 0,011 kg
5 FV_MAN_6MM YARN TEFLON 6mm x 6mm x 109 Long 0,003 kg
3 M10 Flat Washer GALV 10mm ID Flat Washer 0,004 kg
2 M10 x 30 Hex Bolt GALV 10mm OD x 30mm Threaded Bolt | 0,030 kg
2 M10 x 60 Hex Bolt GALV 10mm OD x 60mm Threaded Bolt | 0,048 kg
1 M12 Flat Washer GALV 12mm ID Flat Washer 0,006 kg
1 M12 Nylock GALV 12mm ID LOCK NUT 0,016 kg
NOTE:

NO TRANSFER OF INTELLECTUAL PROPERTY : Any & all drawings,
documentation, information or data provided by AMF to be used solely
for the use intended by AMF,nor may it be shared, copied, distributed
or disseminated in any manner whatsoever. All intellectual property,
including AMF's drawings,shall remain the sole property of AMF.

ALL THREADED PARTS TO BE GREASED
WITH COPPER COMPOUND

APPROVED
R.P.M.J.

TITLE

§ FLUSH VALVE 100mm MANUAL
PARTS ASSEMBLY

ALLGEMEINE MASCHINEN FABRIK

SIZE |DWG NO

A2 |AMF_FV_100_90_GS_FL_MAN_MS

REV

SCALE 1:1

SHEET 1 OF 1

8 | /

2

| 1




